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Question solution of IBA taken exams (Bank and Non Bank)

City Bank Ltd MTO Recruitment Test 2018: English
Questions 1 to 5: For each question, select the phrase that
appropriately fills in the gap.

1. 1 wish you would tell me—,

Ans: who lives next door

2. The professor said that

Ans: the students could hand in their reports on Monday

3. She wanted to serve some coffee to her guests, however. —
Ans: she did not have much sugar

4. Many of the international problems we are facing now
Ans: are the result of misunderstandings

5. Automobile production in some countries—,

Ans: has been rather erratic recently

6. | have already read this book twice.

Ans: No improvement.

7. What tribute shall we pay to our leader that he would
appreciate?

Ans: could appreciate

8. Working in the slums brought her in against the realities
of poverty,

Ans: brought her up

9. it was she not me, who put forth the attractive proposition.
Ans: she, not |

10. Your advice is no different from the other friends.

Ans: no different from that of the

many time (c) considering the new contract, the students
(d) lost the opportunity to lease the apartment. () No
error

Ans: too many time

12. She (a) has not completed (b) the

assignment (c) yet and Maria (d) hasn’t neither . (¢) No
error

Ans: hasn’t neither

13. (a) The food that Rita (b) is cooking in the kitchen (c) is
smelling (d) delicious. (¢) No error

Ans: is smelling

14. The fire began (a) in the (b) fifth floor of the hotel, but it
(C) soon spread to (d) adjacent floors. (€) No error

Ans: in the

15. When (a) a university formulates (b) new registers it
(c) must relay as (d) decision to the students. () No error
Ans: it must relay

16. If you are looking for a job or plan to reenter the working
world, you might find the Job — a difficult task. If you
rewrite (the sentence beginning with “Looking for a job” the
next word should be-

Ans: being

17. “The variety of working in a different place every day or
week stimulates many workers.” Which is the best was to
write the underlined portion of this sentence?

Ans: will be stimulating

18. “On the other hand, if you want to attend a computer
seminar, lie in the sun on the first day of summer, or visit
Aunt Grace on Columbus day, you can easily take the day
off.” Which correction should be made to the sentence?
Ans: change Columbus day’ to Columbus Day

19. “Some temporary agencies offer health insurance and
other benefits to their workers, but others do not.” Which
correction should be made to the sentence?

Ans: No correction is necessary
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20.”Temporary work may not be appropriate for people
which crave security.” Which correction should be made to
the sentence?

Ans: replace ‘which’ with ‘who’

21. A and B started a partnership business investing some
amount in the ratio of 3:5. C joined them after six months
with an amount equal to that of B. In what proportion should
the profit at the end of the first year be distributing among A,
Band C?

A invested for 12 months, B invested for 12 months and C

invested for 6 months.
A:B:C=(3xx12):(5xx%12):(5xx6)

=36:60:30

=6:10:5

22.Solution Y is 40 percent sugar by. volume, aid solution X
is 20 percent sugar by volume. how many gallons of solution
X must be added to 150 gallons of solution V to create a
solution that is 25 percent sugar by volume?

Solution X = 20% sugar

Solution Y = 40% sugar

We’re told to mix a certain amount of Solution X with 150
gallons of Solution Y to get a 25% sugar solution:

X = number of gallons of Solution X

[(:2)(X) + (.4)(150)] / (X + 150) = .25

Now,

0.2X +60=0.25X +37.5

22.5=0.05X

450 = X

23. It takes 1 pound of flour to make y cakes. The price of
flour is w dollars for x pounds. In terms of W, X and y, what
is the dollar cost of the flour required to make | cake?

Price of flour per pound= w/x

Qty of flour required to make 1 cake= 1/y

Total cost of flour required to make 1 cake= w/x x 1/y
==wW/Xy

24. If 3/4 of the number of women working at Company X is
equal to 2/3 of the number of man, what fraction of the
employees at Company X are women?

3w/4 =2m/3

w/m = 8/9

w:m:T =8:9:17

w/T =8/17

25. If the circle with center o has area 97, what is the area of
equilateral triangle ABC?

Ans: 123

Solution:

Area=9n

radius= 3

diameter = 6 = height

Half of an equilateral is a 30 60 90 triangle

So the base of the equilateral is

43(1/2)x 4V3 x6 = 1273

26. If the average of seven consecutive integers is k+2, then
the product of the greatest and least integer is, remove

Total 7 consecutive nos and K+2 is the average which means
3 nos each are on the right and left of this no.

K-1, k,k+1,k+2 k+3, k+4, k+5

Smallest no=k-1

largest no=k+5

Product=(k-1)(k+5)=k2+4k-5




27. The sum of the pre-tax costs of item A and B is Tk 300.
In Dhaka, each item would be charged a flat 7% tax. In
Rangpur, item A is subject to 5% tax and item B is subject to
10% tax. If the tax in Rangpur on the purchase of both items
is exactly Tk 3. more than it is in Dhaka, then what is the
pre-tax price of item A?

A. 120
B. 200
C. 300
D. 320
E. None of these
Ans: 120

28. If a, b, c and d are different integers between -5 and 10
inclusive, what is the least possible value of the product

abcd?

A. -480

B. -1800

C. -3600

D. 320

E. None of these
Ans: — 3600

29. A businessman has 1000 kg of rice. part of which he sells
at 8% profit and the rest at 18% profit. He gains 14% on the
whole. how much rice did he sell at 18% profit?

A. 400 kg

B. 600 kg

C. 640Kkg

D. 700Kkg

E. None of these
Ans: 600 kg

Solution:

By the rule of alkgation, we have:

Profit on 1% pan Proftt on 2™ pan

8% e " 18%

T Mean Profit
% -
=

—

4 _— ~—_ 6

Ration of 1 and 2™ parts = 4:6=2 3
(3
* Quantty of 2 kind = | 5 X '-DDC]kg =500 kg.

30. In a certain sock drawer, there are 4 pairs of black socks,
3 pairs of gray socks and 2 pairs of orange socks. If socks are
removed at random without replacement, what is the
minimum number of socks that must be removed in order to
ensure that two socks of the same color have been removed?

A 4
B. 8
C. 3
D. 7
E. None of these
Ans: 8

31. In a class, average mark in an exam is 70. The average of
students who scored below 60 is 50. The average of students
who scored 60 or more is 75. If the total number of students
in this class is 20, how many students scored 60 or more?
The total number of students in the class is 20. So let the
number of people having marks greater than or equal to 60
be ‘x’ so number of students below 60 will be be 20-x’.
Applying the basic definition of weighted average:
50*(20-x)+75*(x)= 70*20

So 1000-50x+75x=1400

=> 25x=400
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=>x=16

32. How many positive integers less than 20 are equal to the
sum of a positive multiple of 3 and a positive multiple of 4?
A 2

B. 5.

C. 7

D. 10

E. None of these
Ans: 10

33. Two tanks A and Bare filled with petrol. Tank A holds
600 liters more than tank B. If 100 liters of petrol were taken
out from each tank, tank. A would then contain 3 times as
much petrol as tank B. What is the total number of liters of
fuel in the two full tanks?

Capacity of tank X- Capacity of tank Y=600
X-Y=600....... @)

After removal of 100 litre from each tank

Tank X would contain (X-100) litre

Tank Y would contain (Y-100) litre

Given that,

(X-100)=3(Y-100)

X-100=3Y-300

X-3Y=-200
X =3y -200
From (1),

X -y =600
Or, 3y — 200 —y = 600

Or, 2y = 800

Or, y =400

So, x = 3x400 — 200= 1000

So, Total=1000 + 400 = 1400

34. If three metal cubes having sides of cm, 4 cm and 5 cm
were melted to make a single cube, what would be the length
of the ness cube?

Total volume of 3 cubes,

=(3*+43+5%)cmd

= (27 + 64 + 125)cm?®

=216 cm?

Now volume of new cube = 216 cm®

So edge of new cube =3V 216 cm3® = 6 cm

35. Two item’ were sold together for Taka 3600. One item
was sold at 20% profit while the other was sold at 20% loss.
How much profit or loss made by the sale?

A. No profit or loss

B. Tk 300 profit

C. Tk 300 loss

D. Tk 900 profit

E. None of these

Ans: None of these

36. Baki lives 2 miles west of Raju’s house. Rafiq lises 3
miles north of Raju’s house and 2 miles sest of Diba’s house.
Diba’s hat is the straight-line distance from Baki’s house to
Diba’s house?

-(2)

A. 5 miles

B. 6iniles

C. Tmiles

D. 10 miles

E. None of these
Ans: 5 miles

37. If the average of’. 7, 13, p and q is 17, what is the
average of (p+11)and (q — 9)?

1. 60

2. 25




3. 21

4. 14

5. None of these

Ans: 25

Solution:

ATQ,

(7+13+p+q)/4 = 17

Or, 7+13+p+q = 68

Or, p+q =48

Now,

{(p+11) + (g — 9)}/2 = (p+q+2)/2 = (48+2)/2 = 50/2 = 25

38. M is a girl and has the same number of brothers as
sisters. N is a boy and has twice as many sisters as brothers.
M and N are the children of Q. How many children does Q
have?

Ans: 7

39. In a legislative body of 200 people, the number of
Democrats is 50 less than times the number of Republicans.
If one fifth of the legislators are neither Republican nor
Democrat, how many of the legislators are Republicans?
Assume the number of Democrats is represented by D, and
Republicans by R. The neither/nor (independents) are
represented by 1.

D+R+1=200

[=1" 0f200 =40

D+R+40=200

soD+R =160

and we know D = 4R - 50

We have 2 unknowns with 2 equations. Let’s solve:
D+R=160,s0 D=160-R

Substituting into D = 4R — 50, we have

160-R=4R-50

210 =5R

R=42

40. Arafat has Tk. 420, He purchases fifty mangoes and
thirty oranges with the whole amount. He then chose to
return six mangoes for nine oranges as both quantities are
equally priced. What the price of each mango?

A. 450

B. 5.0
C. 5.50
D. 6.0
E. None
Ans: 6.0

41.°P’ starts jogging from point X to point Y. Half an hour
later his friend ‘R’ who jogs I mile per hour slower than
twice P’s rate Starts from the same point and following the
same path. If ‘R’ overtakes in 2 hours, how many miles will
have R covered?

A 22

B. 3.3

C. 4

D. 6

E. None of these
Ans: 3.3

42. In a class, 120 students are male and 100 students are
female. 25% of the male students and 20% of the female
students are engineering students. 20% of the male
engineering students and 25% of the female engineering
students passed the final exam. What percentage of
engineering students passed the exam?

Total no. of Engg. students = 25% of total male + 20% of
total female
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Total engg students:

= (120%25)/100 + (100x20)100

=30+ 20

=50

Now total percentage of engg. who passed:

= (30x20)/100 + (20x25)/100

=6+5

=11

Pass percentage = (11/50) x 100 = 22%

43. if the integer A is a multiple of 6, the integer B is a
multiple of 3, and A>B>0, then A? — B’ must be multiple of
which of the following integers?

A 6

B. 8

C. 9

D. 10

E. None of these
Ans: 9

44, Six years ago, Rahim was P times as old as Kalam was.
If Rahim is now 17 years old, how old is Kalam now in
terms of P?

Let,

six years ago, Kalam’s age is x

S0 six year age Rahim was: 17-6 = 11 years old

and six years ago Rahim was P times as old as Kalam was
=>11/x=P

=>x=11/P

=> Now Kalam age will be : x+6 = 11/P+6

45. Who won the Nobel Prize in Economics in 20177

Ans: Richard M. Traler

46.What is the full form of NPSB?

Ans: National Payment Switch Bangladesh

47. In Bangladesh, which of the following is used for settling
accounts on interbank fund transfer?

Ans: EFTN

48. Which one of the following rivers flows through China,
India and Bangladesh?

Ans: Brahmaputra

50. In which one of the following districts, solar energy
project was started first in Bangladesh? Ans: Narshingdi
51. Which one of the following minerals is found at
Dighipara in Dinajpur district? Ans: Coal

52. The main source of electricity in Bangladesh is

Ans: Natural Gas

53.’Payra Sea Port’ is located in Ans: Potuakhali

54. In MS PowerPoint, which function key in the keyboard is
used as a shortcut key for starting slideshow?

Ans: F5

55. Which of the following is not an UN organization?
Ans: None of these

56. From which date has the constitution of Bangladesh been
in effect? Ans: December 16, 1972

57. FIFA World Cup 2026 will be hosted by which one of
the following countries?

A. Canada

B. Mexico

C. USA

D. All of these

E. None of these

Ans: All of these

58. In which year did The City Bank Ltd. start its
operations? Ans: 1983



https://www.bb.org.bd/fnansys/paymentsys/natpayswitch.php

59. Who is the signatory of the five taka note in Bangladesh?
Ans: Finance Secretary

60. Pulitzer Prize is awarded for outstanding work in the
field of Ans: Literature and journalism

Mercantile Bank MTO

1. Host city of next Olympic — None (Tokyo,Japan)

2. Shortcut command of Redo in MS Office — Ctrl+y

3. First Bangladeshi to take 100 wicket in test cricket — Md.
Rafique

4. Bretton Woods twins are — IBRD and IMF

5. Headquarter of ACU — Tehran, Iran

6. To which country Bangladesh export most? — USA

7. Winner of fair play trophy in last FIFA WC — Spain

8. Key to be pressed to make slideshow of current page in
MS Power Point — Shift + F5

9. Location of National Maritime Institute -Chittagong

10. Which district has the highest literacy rate? Barisal
MCQ Math Part:

1. There are how many positive factors of 2600? Ans: 24
Solution:

2600 = 2"3 x 5"2 x 13

Number of positive divisors = (3+1)(2+1)(1+1) = 24

2. If a,b,c,d are consecutive numbers where a<b<c<d, what is
the average in terms of d? Ans: d+2.5

3. Two trains are going on same direction in 80 and 44
km/hour. They can pass each other on 30 seconds. If length
of first train is 120 meters, what is the length of the second
train?

4. Two pipes can fill a tank in 36 and 45 minutes
respectively. If both taps are open for 8 minutes and then
stopped, how much time will tank B need to fulfill the tank?
5. X and Y takes 12 days. Y and Z 20 days. X and Z takes 15
days to fulfill a work. Who will take the least time to do it
alone? Ans: X

6. 12 years ago son was half of father’s age. Now their age is
5:3. After 7 years what will be the sum of their age?

7. There are 200 people. 80 use no brands. 60 uses A. For the
rest, for one person who use both brands ,there are three
times of people who use brand B. How many people use
both brands?

8. (a+b)"2 = 25, (a-b)"2 = 1. What is the value of b? Ans: 3
9. If 27 machines works 14 hours a day, to make 630 tons of
coals in 15 days. How many days will it take if 24 machines
work 12 hours a days to make 864 tons coals?

English Part:

1. Disease that affects a large number of people in an area at
the same time — Epidemic

Written part: 30 Marks

1. Road Accident: Causes and Remedies [15 Marks]

Try yourself

2. Technological change in banking sector in next decades
(Can’t remember the topic exactly) — [15 Marks]

GTCL

2 MR I - G T (ST

o, *=] #d LTI 1 [{ge 1 [gat
8. USA vice president-Mike Pence

& TEHAIE AL Y- TSI A TToI97F
. *FHN NI Fop! (1

Q. synonym-
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uproar-turmoil

upheaval — disorder

filth- dirty

recourse- action

reprimand — rebuke

8. *[SFS SN GANNIH-ZRISHITI 2T (SHWR)
. NS B (F- 5T oI

0. which country is not related for bombing in Syria-
RUSSIA

N, (TR (MT-pM

SX. parki sea beach- Chittagong

13. abbreviations of ERP....Enterprise resource planning
8. I (PIN YT AGF P (3

S¢. WG f3435- et

. R0y I ST (961 IR (7T I
vq. iR RIRT W - sy 75

b, qY7- JHIT

6. (T QNI T3 Ty - B¥R

GTCL Math:

1. If a-b/3=1/3 and a+b/4=3/2
So a+b="?

answer:3

2.18x
3. 1500
4,1:2

5.Marble first took 3/5 then took 3/6 again took 3/5
Finally have 8/125
Answer:8/125

6. There are 17 th marble in a pot..black ,red and green
If red have x thn green have 2x
Answer:black 5

7. speed answer:50
English_15:

. Sordid-

. Filthy- Dirty

. Recourse-

. Reprimand-

. Uproar-

. Upheaval-

. Never have I ...

. Itis no good getting ...

9. ... a coherent factor ...

10. ... differs in ...

11. ... had ... before he came.
12. ... optfor...to ...

13. There wasn’t enough evidence ...
14. ... aradical ...

15.

OO0 WN P




NCC bank (MTO) -2018 11) Number of Non- Scheduled Banks - 5
12) Tele-Banking started by - SCB
1) The difference between a simple interest & annually 13) Last Fiscal Year Economic Growth - 7.65%
compounded interest of a principle of 2 years at 8% interest 7.86%(projected)
rate is tk 12.80. What is the principle amount??

2) Jaya can make 40 pancakes in a minute. Sally can make N.B. All are collected
pancakes at half of Jaya's rate. What time will it need (in
minute) to make 150 cakes, if sally have already made a start
of 30 pancakes alone?

3) Focus writing :
Describe (in your experience or example, causes etc.) the
following focus writing --

"poor banking governance --- recent bank scams"
MCQ part :::: [60*1.25 = 75]

1. what is the name of the Airport of nepal? Trivubon

2. which is the member of G-7?

Brazil / China / Canada / Sweden / None.

3. Which keyboard shortcut can help to check spelling?

F7 / Alt+F7 / Cntl+F7 / Shift+F7 / None.

4. Which keyboard button can help to open a new slide in
MS power point?

Alt/F4 /F5/F2/ None.

5. Who wrote " Theory of everything"? Stephen Hawking
6. A radio sold at a loss of 10%. If the selling price is 45 tk
more. it could earn a 5% profit. What is the price of the
radio?

450/300/400/350/none.

7. Who is the 14th president of India? Ram Nath Kovind
8. "Ha long bay" is situated in--- Vietnam

9. The area of a rectangular and a square is same. If the
perimeter of the square is 32 and the length of the
rectangular is 4 m. Then the width is --32/16/8/24/none.
10. The little girl [TAKES AFTER] her mother.

find the meaning of bold phrase. Resemble

11. Arif and Atif has been paid X taka in advance for a job.
Arif worked for 10 hours and Atif worked 2 hours less than
Arif. If Y taka is deduct from their advance payment then
their wage will be same as hourly rate. In terms of Y, Arif
will get --

8y /6y /5y /4y [/ none.

12. "Kalapani" is situated between which two countries?
India and Nepal

13. Who has received the British Knighthood very recently?
Fazle Hasan

Bank Asia PO 2018

1) Start a new paragraph in MS word command - Ctrl+enter
2) Which one is modifier key - shift

3) Data Validation found in

which menu - edit

4) Number of Foreign Banks - 9

5) Agent Banking started by which bank - Bank Asia
6) Tariff Commission Under which Ministry - Finance
7) Fiscal policy related question - All of the choices

8 ) Establishment of BFIU - 2012

9) Export - Import known as - BoT/LC

10) Advance to Deposit Ratio (ADR) - 83.5%
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Water

6= == (mcq) vo Bad, so07vd . 16: Find the odd word in each of the
following lists.
mwmmmmmm select the word that 12, A) confidentel B) arcane
1 D —— w C) secret D) public E) intimate
. streets, e nie 13, A) veteran B) amateur '
A) reticent 8) rampant C) leamer D) novice E) beginner
C) ravishing D) riveting E) revolving 14, A) furious B) irate
2 John was _ on being nominated as the C) placid D) angry E) enraged
A) mza"‘ B) disheartened 15. A) commence B) initiate
C) enlightened D) elated E) dejected C) terminate D) begin E) inaugurate
16. A) interruption B) disruption
3 m‘:’m 1o the doctor's advice if you want C) break D) disturbance  E) continuity
A) respect B) attention 17. Fisz G T 97
C) interest D) heed E) None A) gft il 5e B) A% WSO HTH ¥&7
4. The ant teacher tried 1o teach the students which |  C) ST am =m D) VTSI e S
Al;cbfs —__ others. E) wfog 7w
compiement B) cooperate
C) compiiment D) coordinate E) condition 18.:»1 T A ;)c?
5. Sonia is quite intelligent but rather 2 i bk TR
C) tazy D) optimistic E) None 19, ‘ca-reea Hfve GT?
6. When bears hibemate, th A)m B) wfE caren
from stored body fat. Coaamd D) oo B ertRm g
A) sanctity B) sustenance
C) supplement D) sacrlege E) subsistence zofnm‘:;'mm?‘“mi
Questions 7 - 11: For each of the following sentences, |  C) iy et D) G = E) fE w1
identify which underfined segment is incomrec!, ~ ;1 i e A
T %ﬁggagoodnegoﬁatorismgnmatmgm L 'A):sﬁn B) @Sl
c D) @mFATNH fe i 3
only with experienced, 3 Rt o ) E) w
D E (No error) 22. fase 1R AR oE?
. A) =it B) =rfrerte
8. | gould not have imagine that Id take
A ane L < ﬂém C) Tirre! D) wrifty E) @it 7w
a big risk for my sake.
D E (No error) 23.Am & m; )cvw aTE?
9. The receptionist mlﬁ_m that | m!d_mge!m C) =f¥ D) B E) et
at a latter time to meet the manager. 24, s saR o T s R e
c D E (No error) A) B) T%R
10. It is natural for your parents o have high S} Bl E) it
A B c 25, . IR e S Ei?
mmsﬁém“' G A) FiEsfemm  B) ey
(R0 8ioy) C)smiwr®t D) FPmARRE  E) @RbEm
1. ImmmwhnandTom.Jom%the 28 ¢ it I
mfm. - A) fireesem . B) w¥rEwaTE T
D E (No error) C) =1t 7w D) #¥reame E) % ww
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1 rampant, 2 elated. 3 heed, 4 Complement, 5ldealistic, 6 sustenance, 7 experience, 8 could not have, 9 latter, 10
with, 11 No error, 12 public, 13 veteran, 14 placid, 15 terminate, 16 continuity, 17 E, 18 B, 19 C, 20 C, 21 D, 22A, 23D,

24 Ai 25 Ei ﬁG.A




27, 4% T LI SF-UR G2 TS AWH 50T
A) st B) i ®:
C) T¥b™ D) sufe E) Wit =

28. fy @z wurds % @7

A)uwfE®  B)fFme C)®m D) ewn E)@nfid =
29. fArsz e cAtfrs Tawf=?

A)e B)a c)a D) =1 E) e =y
30. s @ e I Fwe e SAaTe 2f5w?

A) OTRI B) WA W5

C) F=aran D) =f7 E)@wi3 =3
31, TS 31T (IR LTGE ] AT AW A7

A) T B) G2 9!

C) zoms D) ffrerafa E) mmiE =v

32. frse Al wwftans fRpars Swmea?
A)AfifsB)Tme C)gm  D)wft  E)@rii=mw

33, 73R ofaw of sivaw ok g 19 wr T A #3 ?
A)sy B)ye C)s8 D) E) @=is =7

34, g=ft @feer Yo% sfors ffe =m =1 o U ¢ U=
@ e 9% wrs 78 Gfawfds o s b
A)soo B)oo C)woo D)8ec  E)@FFREFE

35, wfea, wiiten oT0 TS IET (50, Iz S O
EE TH NN 6 THEI WOE AN ¢b I8 T,
wifer 3 5 w27
A)o B)r C)ox E) @HDE R \

w.mmmavﬁmmmao%eu%'
=% 24w A A @ A e w2 o0
A) 3¢% B)3»% C)20% D)%

37, %% FCEE YPNG TS Yo% THA WA 47 oI
o ¥ 3% A7
A) 30% B) 3u.2% C) 0% D) 1% E) RTE =%

D) s

w.immmmao%mmcmma%aﬁ
e CF T ¥45 W2 0% Aferm Fm arS T AN
e ¥ 3% N |WIN?
A) 93% 3% A B) ¢0% 3% M
C) ox% %3 D) @o% T2

meqmwmﬂmemhmm

E) erafo? =3

39.
mmmhq:anfmmﬂmm
WS FE TA7
A)ao B)ex C)»e D) »® E) =it =8

w.aﬁnMMvmumﬁmamme
-n:,aar? B) 5(n-1)+1
A n-1)+
C; 2n+2 D) 7n+3 E) @E 7T

41 w0 omzz o= fome ax o wfag WML 35 I
s s |z ez Wi v ez Al

Aj3s B)es Ciee D)ws E) ==t =T
42. /B, 313 &% TEET FE AT
A) ses% . Bjs%
C) =o% D) 895% E) @92 3
43, B Tz FR-GTTIN 2 FAE (5 4o TR o Ay
=2Z7
A)3or B)yeeo Cj3es  Djs E) ===

44 qwma%%%ﬁﬁvmmwvamqs

Ay Be C)4 D)« E) @St =
45. W Az T w) ¥ o2 oy o 3 T T =
DA YR AN TG T A7

A)a B)s C)e D)% E) =5t =z

m.aoﬁmmmmmevwwwmaﬁ
v 7S SO 3o BN I 8 WOR G I 7
Ay B)e C)8 D)aw E)==92 =%

a7, G5 cownd EE av= o e Wés or T TR
TR 30 = TY I o ¥ e
Aje  Byse Cjs2 D) E)==52 =T

48, «=B G= YOT Yvo fermEIE A v = TETE
L aeD sz SOr e

|' ‘A0 Bjss Cjes Djes E) ==t =T
49, #fe T cwE Tz e WwE7

A= g)=mm

C) =5 D) =5FE ™ E)@==nt

50, WAN a2 "‘4'315 2
A) Wide Activity Network B) World Activity Network

C) Wide Area Network D) Web Area Network
E) =g 7%

A) S3uo FTTH B) y230 7™

C) sexsamm D) 3o 7T E)@=Rt=T
52 4% ¥TE2 BTNS TIAE 07X FOGE TINA BT W W o0
wzA7?

A) & 751 B) &%

C) 8 & D) ¢ 7 E) =% 7T
53 farpe o W s T s

A) AT B) Tw=aoR

C) fope 3m D)= E) =0t =T
et R w@fse w7

Alus) B)sla) Cja D)) E@=RET

e e @*T

27A. 28A, 29C, 30C, 31B, 32A, 33C, 34C, 35C, 36C, 37C, 38D, 39C, 40D, 41D, 42A, 43D, 44D, 45B, 46B, 47B, 48C, 498,

50C, 51D, 52C, 53A, 54B
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55 firy wAgeT Aeyr-a2 e wea oy wfyz?

A) T B) AReRMITS

C) TS D) yoa8 E) =l 7y
56, frwrw Layout-a aten ' 24 firers S Buad) e ad

BIWS TA?

AL B)K W D)P E) (=102
57. wifenrn ¥wm syafse @R eron sfiari?

A) e B) sy

C) o= D) west cifam E) =wih? 5y
58. 0y ferer ArdS omETeT @R G sfEri?

A) F™ B) atrufm

C) 3urmrs D) o= E) @2 7y

58. Organization of Islamic Conference (OIC) @2 #W#]
o™ Fuo?
A)eo B)ez C)eq D) w0

60. fuss b wwm wrateTe AR et

E) =wioE 7

A) 7fSw B) Famy

C) X5 ECH E) e1foR
61, e 1S Bmm Qe 7 W ofefve w7

A) SRE» AT B) dnb] T

C)3hROFB D) 3»498 AT E) @WR% 71

62. o1feeraea e sfewom b s som =22

A)e B)yo C)d D)w E) @muE 75
63, e yings axwcea «wd fs

A) Fend B) F130 CTHEBAITS

C) =m=os D) W% A E) mwhE =1
84, 3o FES Ewivs T @7

A) THRTATS B) s

C) wfeifw D) @™ E) @TE =
65. e erdr w4y fwivers = o o feediee?
A) e g freds. B) wites s fadre
C) forrss s feadfies D) A ears fraadirs
E) =% w1

66, wits wy e Emeamm )
A) g Wi S B) YR W
C) gare endiu s/ D) FAT wrém A E) @i U

69 7o rem GaTE FTA BT

) B 5T Wi AT B) % AT W

c;mmmw D) ¥w w1 3

E) A8 %y
70, cart fanfys 2w

A) 4R ZaTA B) e 22f o AT

C) &5 == D) =AENE BT E) R 70
71, e BT GrpTE ofeeree e 273 A7

A) Z= B) &A% T

C) =5 20 D) #nee 51é E) =ioR %
72. farsz rera Avm STETE 20T T WA

£) e B) =e ==

C)=z Tl D) =7E = E) eFRE =3

73.>vra=f4:a>ﬁme%mvm-fﬁmc.oootmu
maonmxmmﬂqﬁ’m:wn-aon
s wE sfaw =2 0T
A)sec B)swo C)ias BY230 E) @S 70

74, AT oz Hefe sgiE 7
A fevZrz e B)%E
Cc)ms D) *f#z

75. fafrmam @ e AE?
A) g TE B) w1
C) wy== D) wwfe 7fa E) coT=foR 71

76, Tz wwenz fed sz amaw e w &=

E) @z =0

A) &% STATETETT T B) aft effaremerary 2wy
C) e wwmmmm sz @ D) <f fomegs
E) @=hE 7y
77. BBT 20,000 31e, MBT S ¢.000 TR RETE R
T 2,000 LTS T WS %7
A) 2050 O B) vooo O

C)sooo @ D) deosoo Drar E) &% s

78. TUNZ 391 WIS TF 1¢% T o S v
W EETR?

A)3t% B) 0% C)3e% D) oo.00% E) @3

79. Bz @R wew Ty o =
A)RomE ¥Es  B) W moy

C)¥=T <5 D) Itz a7 E) Fr=fog sy
67. W72 TW O RTHER AW Bk fonined
hensasol S 80. 3% BT 2,900 B, Fw s 97 GRT Fivs
A) e s B) w4 fiomars A
) AR e B) e famed
C) zows fomee D) "neamme fomams  E) oot 7 C) o fiom D) nesmire fona  E) ey 7w
68, T WhH! YR FATR A, AT @ T @A
rEwmem I m End of the Exam
A) TR B) wif¥s erwiA oy T
C) zaafz v D) owmiez =35 E) e = Bwone KXBD cwrs firs v
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55B, 56C, 57B, 58A, 59C, 60D, 61E, 62C, 63A, 64B, 65C, 66A, 67D, 68A, 69A, 70B, 71A, 72C, 73D, 74A, 75D, 76C, 77C,

788, 798B, 80B




Biman

(B) sipanfre;
(D) g =

(C) ==Fm (D) waren

- » fas (B) mfs
2 om AF[HIO T2
(A) Flizm (B) Ffwa  (C) #fwza (D) =Faq

11. Bangladesh has been ranked largest
internet using country in Asia.
(A)4th  (B) Sth (C)6th (D) 7th

12. Till now, how many spans of Padma Bridge
have been installed? _
(A) 4 (8)5 {(C)8 (D)7

13. What is the period of time an infectious
disease infected person must be kept away
from other people called?

(A) Quarantine (8) Gestation
(C) Isolation (D) Seclusion

(C) ==vu (D) =

14. How many goals are there in SDG?
(A) 17 (8) 18 ()19 (D)20

15. Which country’s football team was defeated
by Bangladesh team by 17-0 goalsin £
U-18 Women's Championship this year?
(A) India (B) Pakistan
3 (C) Maldives (D) Nepal

1A, 2A, 3B, 4D, 5b~cyi, 6A, 7B, 8B, 9B, 10D, 11B, 12B,
13C, 14A, 15B,

\
2 g,?z Next Olympic Games 2020
' {A) Qatar (B) France C) Brazil

23. Which university has awarded D, Lit. to Prime
Minister Shel_kt; Hasina in 20187
(A) Kazi Nazrul University, West Bengal
(B) University of Delhi, New Delhi ‘
(C) University of Calcutta, West Bengal |
(D) Indian Institute of Technology, Delhi

24. Name of the rockel which carried

‘Bangabandhu Satellite-1:
(A) Gemini (B) Agni
(C) X-15 (D) Falcon 9
25. Parki beach is situated in S
(A) Chittagong (B) Khulna
(C) Cox's Bazar (D) Potuakhali
26. Which one of the following planes is called

‘Dream Liner?
(A) Boeing 737

8 .
(C) Boeing 777 (8) Boeing 747

(D) Boeing 787

16C, 17C, 18B, 19B, 20A, 21C, 22D, 23A, 24D, 25D,
26D, 27A




35, Which of the followings = not an exampie
& ~ secondary storage device in computers? o

(A} Hord disks (B) RAM
glﬂmm (D) Compact Disks

28D, 298, 30C, 31C, 32D, 33D, 34B, 35A, 36C, 37B,
38C, 39B

(A) & hurmble
(C) an irritable :

47, She hes bei et s
Iﬁ)h'un'tthc? 8)
Cidoesntsha? (D) hac

48. How _ Vrenew
{A) ofien do you have to £
(8) do oftan you 10 have
(C) you often do have to
(D) you do have 1o ofien

Q49 - 51: (dentity the word ormeet.
e, ty with correct

49, (A) Detrioret Detetioret
(C) Detiriorate ((BD)) Deteriorate.

50. (A) Sumainance (B) Sustainence
(C) Sustenence (D) Sustenance

51, (A) Misceflaneous COlanes
(C) Miscallenoous m‘

asz-ss:s-uanﬁ*
glven !

408, 41B, 42D, 43B, 44A, 45B, 46A, 47A, 48B,
49Deteriorate, 50Sustenance, 51 Miscellaneous, 52C,

53B




(A) 60{p + 200)(40 + q)
Ostasa)
.
{D) None

!
mnmwmmmnnmww =
= the tamainder is 7. What ks the remaindor

mnnu&mwm

A)O

tc))z (O)Cannolbodommd

can cany 24 buses or 35 cars ot @

o mmmuﬂsbuscsonmmm
mwymwboloadod onto it? %
(A) 6 B)8 )8 (0)

61 wwsmunzmmmwmd

Thele total salary is Tk. x. What is
Y= (8) w2 - 1000
%00 ©iNene

- Jamal 1o 50 workers 1o finisha
= rukm:r;:c&dwzodmm*m

(w40 ()50  (C)60 (O) None

' classis 4 5.
, mdmammz;‘omw
percentage of studeot

" Cyssw (©)None

54D, 55A, 56 57B, 58A, 59B, 60D, 61B, 62B,63C

19 In how
o
A1z (B) 14

70. ll;y>0nndyx<o wridlolmo(om
uomenegulm.

A ay'z ) wt'
ke (D) None
= End of Part |

64C, 65C, 66C, 67C, 68B, 69A, 70B




BSCIC

c&\lhmlo-"mdmm
boe

n Ns Toge

ﬁdm o i
g mammm

1. ambience
2. Smell a mt
3. made up
4. out

5. out

6.D

7. are

8. tides and currents
9. No error

10. among

11.to

) Interesting )
D) Uncommon  E) None
10, Ha poltcal enomves cannct tault bes cl L

worsl they can say is that bis infognty and nofor
| Telelty aro bonrg
} ) Liderty B)

Inoolence
C) Fathhingss  O) Disloyaly E) Nooe
10 Damanstratons by parkizang of both sides fumed
" wook. \

200 tecteciogy s the hoight of modemidy, nuclear '
technology must be Mnmd’iﬂ J
mandostation.

technology and ds highes!

A) Pinacis ) Worthy

C) Robust D) Undauntod  E) None ]
12.of
13. cach
14.0n
15. through
16. Placatory

17. Interesting
18. Faithfulness
19. Followers
20. Pinnacle

QY. 1 O I0® AAN OH- GATGN
2. subconscious MTHA J3F NS (FG- HITO
29, ISR W fNefT Ty « wfoarm? —go

28, fNEa (N GANVIOF ST WTHEANT BN Ao-

P TS
2¢. fNHR (W IAFI6 @7 91T Y3 Gioa

2, AT *FA6 B W III7© AR (N6 (FNOre-

ATHI R

L www.bdniyog.com

29. PN AT SHEI (FN (26 NG 5FA-FG
T (GRS 8 o)

2. 9T (OfF fGf - QYN 2O (FIN FIACP (PN
fTofe- a0 LS

2. IS O A6 e Bovs1sf FH6-20

00, AYATY (P (FTI(F FANN- G 5]

0. IV g7 AfSF 17 f[Te=m (FNIG-I + S

02, FNI WL TALF *37 (PN G-I

0V, T Yoo Wt A(6® (- F[TT1 I15- TN FIER




8. N *1HT T F- G
¢ FFA TYLY AHMOS- F IF FATT AF™I- FIFF

BSCIC mcg auestion solution (Math and English)

B12 Cj18 0j20 £ None

i mixing acid and water. Out of the 30 ml
15 acid. How much mi of ackd must be

aindor whon the positive integer m is diided
8 th comaindorwhon 2n s dvied by

36. 9%4/27 = 4%/60
Or,1=20

37. 10+x = 0.5%(30+x)
Or,x=10

38. 13(m) = 2(n)*6 +1(r)
260=4%*6+2
Ans: 2r

39. T = 100x

Full = 40x

Ya=25x

Now, 40x-9 = 25x

Or.x=3/5

Therefore, T = 100*3/5=60 L

40. x + 1/x =65/8
Or, 8572 -65x +8 =0
Or, (x-8)(8x-1)=0

Ans: D

41.36 = 1*36=2%18 =2%12=4*9 = 6*6
646 =12
Ans: A

42.45+45/2 = 45+422.5 = 67.5 degree

43.a=1,d=4, n-thterm = §1
Now, 81 =a+(n-1)*d

Or, 81 =1 +n-1)*4
Or,n=21

Avg = Sum/2| =1/21*[n/2* {2a+(n-1)8d}] =41
Ans: C

44, 7*8/12 = 4.67 = 4 hr 40 min

45.5x -x"2=6
Or,x=2

46. LCM(6, 12, 20, 24)= 120
Efficiency, A = 1/6%120 =20
B=112*120=10
C=6,D=5




WF@ZWWQW@WW
S MW IS BHEI FfSa% QUie 5 Spe
BIFla JCIGA XPe FfSas I8 QUi < F=ra
faffian a7 sEreai Sifo9s 98 aund 7 Fd

SIfG ABEa BiPal SIfE SrOaES QUNH 57 T=pe
WD (SIS SRAIHE S AL QU 576 SFd

SN = o= P as s

SSC QF FAEAN NP SIS Q% 98 QUi 5 T
HSC QF JCNOAIN NPpe PIfS Q% 98 QU S5 Fra
fErafamye of6a e PifSas 98 QUi 55 T
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Ratio = 20:10:6:5
Ratio total = 41

B gets = 10/41%8670 = 2114
C gets = 6/41 *8670 = 1268
B gets tk846 more then C
Ans: None

47. 120/(x-2) — 120/x =2
Or,x=12
He buys = 120/12 = 10 pens

48 ¥ woye7 and ey’ 3
Mmmo«m')m ek
A2 mas C) 65 D) o1 £ None

49. The saling prce of 15 tems equals'the &
: cost
-m,\h.nam.m’*ﬂ:.-.

A4 BIEO Cleo  Djes

51 The lengih of a rectangular okd & 30
surmounding tno tiekd has a total lengeh
What i the lengeh (In meter) of the.
A4 BIS0 Cls0 D70

52. The product of two consecutve |
5 24, What is the Larper numbs

A}-4  B)-8 Ci4 D)8

48. 2xy=7%7-25=24
Or, xy =12

XM3 4yt = (XHy)"3 — 3xy(xt+y)= 7(49 -3%12) =91

49. x/15 —x/20 = 5x/120
Profit =(5x/120) /(x/20) *100% = 33.33%

50. T =(25-10) + (25-10) +10 +10 = 50

51. 140 = 2(30+x)

Or. x =40

Diagonal = Sqri(40%40 + 30%*30) =50 m

52.(4)*(-6)=24
Ans: A

53. (x#+3)"2 =225
Or, x =-18,12

x-1=-19
x-1=11
Ans: E

54.T=4K

TH+x = 3%(K+x)
Or, 4K +x = 3K+3x
Or, K=2x

§5.6x+7x = 13x

13, 26,39, ...., 130

12(B)+14(G) = 26

Ans: D

Yousuf
Officer IT
Sonall Bank LTD

56. Switzerland g9 m&ﬁ?— Bern

57. SIS} TS SN G- (ol

58. ECNEC 2if$fS® =3 1972 ST

59. 2o BTN MSFNFIN SN AR JTG AT
60. TR B WS- (orel

61. BSCIC eSS =3 1957 ST

62. TGN B INI- (INTCATA

63. QT AIZW R NREFFG

64. AN AT TSTF Gy FNNN IT1- 2¢ I

65. Landlocked country ¥ fSTIoaTY

66. GO SIS L TANGTS WAIBIRAN (AR WA W=
67. (MU S ATRCSG airlines— GMG Airlines.

68. *MTBTS (AITIS - Nadia Murad

69.
70.
71.

Puskus Award (T - POICA
BIMSTEC- Economic Organisation
National Maritime Institute %o AN

72. o1 fJtet ey ey oQifRe- wrarR

73.

74
75
76

7.

78
79
80

Bangla academy award (W31 @ - 1960 1T (TP
Operating System g6 System Software
Duplicate slide &< command- ctrl+D
entire file select P command- ctrl+A
Utility Programme-— Norton
Pictures File 49 extension W3- php
Unsolicited commercial E-mail (< JCeT- Spam.
Unicode I3 bits e 47T 16 f6
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